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Unit 4 Review (4.1-4.2) Period___Date

41 }:i‘features of different forms
Level 1
Find the vertex of each quadratic function and state whether it is a maximum or minimum.
1.y=3x2-18x+5 2.y= =3(x+6)(x—-2) 3.y=2(x+8)(x+2)
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Graph each function. State the vertex (min/max), axis of symmetry, domain, and range
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Match each graph with its equaﬁon
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Level 2/3

The helght in feet of a football that is kicked can be modeled by the functiony = —10x? + 28%x, where X is theh1
ne in seconds after kicked. Find the football’s maximum height and the time it takes the ball to reach this heig
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B) How long does it take to reach

C) How long is the ball in the air?

Q\pou{' 3 Sec
25. Draw a graph with the following features: o
A) a<0
B) x-intercepts= (4,0) and (-2,0) / .
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